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QUESTION 1

-- Exhibit ? 

[edit protocols ospf area 0.0.0.2] 

user@router# show 

area-range 0.0.0.0/1 restrict; 

interface ge-0/0/1.0; 

-- Exhibit -Click the Exhibit button. 

You have an OSPF area configured as shown in the exhibit. 

Which two statements are true? (Choose two.) 

A. The 30.0.0.0/8 prefix will not be advertised to Area 0 as a Type 3 LSA. 

B. The 200.0.0.0/8 prefix will not be advertised to Area 0 as a Type 3 LSA. 

C. To be effective, the configuration must be used on an ASBR router. 

D. To be effective, the configuration must be used on an ABR router. 

Correct Answer: AD 

 

QUESTION 2

You need to ensure that your high-priority traffic uses the best-possible route while your best-effort traffic uses a lower
preference route. You want to use CoS-based forwarding to use the DSCP values of the different types of traffic to
assign the LSP that should be used for the next hop 

Which three additions must be made to the configuration to satisfy the requirement? (Choose three.) 

A. a class-of-serviceforwarding policy 

B. a policy statement for LSP next-hop selection 

C. an important policy applied to the forwarding table 

D. an export policy applied to the forwarding table 

E. a multifield firewall filter for LSP next-hop selection 

Correct Answer: ADE 

 

QUESTION 3

-- Exhibit ? 
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-- Exhibit -Click the Exhibit button. 

The exhibit displays an IS-IS topology and an IS-IS configuration for R3 and R4. R4 cannot reach any external
destinations or addresses located in Area 49.1111. 

How would you ensure that R4 can reach external destinations and addresses located in area 49.1111? 

A. Configure an export policy on R3 that leaks all IS-IS routes from Level 2 to Level 1. 

B. Configure R3\\'s authentication key to match R4\\'s authentication key. 

C. Remove the overload statement on R4. 

D. Remove the ignore-attached-bit statement on R4. 

Correct Answer: D 

 

QUESTION 4

You are asked to implement an LDP-signaled VPLS network for a new customer. Which two statements are correct
regarding this implementation? (Choose two.) 

A. A full mesh of LDP sessions between PEs must be configured. 
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B. The PE routers distribute VPLS to label mapping using MP-IBGP. 

C. The same NLRI as Layer 2 VPNs is used. 

D. The PE router advertises a label for each remote PE configured. 

Correct Answer: AD 

 

QUESTION 5

Your company has multiple upstream BGP connections to the Internet ISP-A, ISP-B. and ISP-C. You want to ensure
that all traffic coming into your network uses ISP-A. 

How would you accomplish this task? 

A. Change the route preference to be higher on routes being advertised to ISP-B and ISP-C 

B. Prepend your AS number on routes being advertised to ISP-B and ISP-C 

C. Change the local preference to be higher on routes being advertised to ISP-A 

D. Prepend your AS number on routes being advertised to ISP-A 

Correct Answer: A 
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